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2N 8

A BIH Y THAH 22| SH (Y22 A /ABIsiA)
CHol: TERA SMEAL B2 (ol e
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
—2EA Y P)2AL HFE H
530& 8,545 x6 3| 27,174
~2ESYAER 22 HY L 0
530 1,560 M *43| 3,308
og- -0 .3 HA RAES
7,500 *32,994m" x20% 49,491
o= RAlH| 210,646
—2& A} 7,500&*10, 171m’ 76,283
-A)EHA 7,500& *2,079m 15,593
- nNS3SHH 7,500 2,992 m’ 22,440
—oSAAIE2 7,500& *4,940m* 37,050
-0+=23= XotF=E
7,500 7,904 m* 59,280
202 04b| 4,640 4,640
01 2LH Y| 4,640 4. 640
O=|Al A=Y etets] MAIR HAsH(Astot
LAHN S) 110,000& 4 H x2 2 x 13| 880
O38HE &2 L SHAHEAL
20,000 *3H x5 x33| 900
O gR24HA s &%
110, 000& x2H 2 2 x23| 880
ogR =E0| B2 LT A8
110,000 *3H x3U *x23| 1,980
206 =8| 39,440 39,440
01 JHZHI 39,440 39,440
OFA HIINEE RANES=E AN 72 17,640
oL® WD U OFD|, LD SIIP S P
160,000& +6S* 122 11,520
oFM Y BHE S N P
85,0003 x65+ 128 6,120
O2& A ASIH NEE KANE+=S XM
o 9,650
o2 Al FHEA SEI| & LA
50,0003 x24I 2~ 1,200
CEFA ABAS U NI PEE D
2 20,0002 *70H 1,400
oW2IE BTN P
50,0002 x24 3| %2l A 2,400
oE=EAMAI L FHAEA HIAYAD] HA2H|
1,500& 200 £ *3CH 900
oEMAl 2483 B48 TEH 7Y
12,500 x25EA 12& 3,750
OS2& A &Cl&el =2 35
5,000& *4 S *453L 900
O=Zs2dAg2 =5 & 2|8 M F
2! 10,0003 *55*53] 250




2N 8

M S U TA B2 SH(YPDDHE /Yo )
Chelt TERA SAEAL 22 (CHol: &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
O=SUNS sttt BAE +2 ¢
5,000 *150=2* 100 2 750
O2&AL, )AL SHELE 43|, &
A 7Y 30,0002 *757H 2,250
OSMIITIE MY 42 2
3,000 *2,0000HK 6,000
O2&A = IHdAME WA
40,0002 *50 K 2,000
401 AlZHIZL S0 140,000 150,000 10,000
01 Al&HI 134,000 150,000 16,000
OZEAF HETHZ 0 [HE AIES 2=
SA 50,000,000& x 14 50,000
O2EA =2 &Il wH
54,000,000& *14! 54,000
O=E2A CCTV &X 30,000,000 * 14! 30,000
02 Zeld| 6,000 0 6,000
O=FHAI = dJ|€d] uH Zcl 93
6,000,000& 14] 6,000
405 KHoHF S| 21,000 10,440 10,560
01 ML ESFSHI 21,000 10,440 10,560
ORFA PUAY FFE MDY 24U 7Y
600,000 = 10CH 6,000
OZFA FEFUNY EFRRAFAI| WA
15,000,000 * 14| 15,000
Ol A BN 305,376 278,505 26,871
101 @124H| 1,605 4,734 A3,129
M IIRNZE2NSES 1,605 4,734 A3,129
O22EAL sAS2t &= MAH AR
80,2402 x2EH+5 2 +23] 1,605
201 fet=2 3| 267,486 267,486
01 AtR2tc|Hl 56,468 56,468
Oget=EH| 30,056
o2IB AL EHAZETEH| 2LIHE M
ANEZ 32,0002 12 384
cOlSIFA HRYBA HIE PY S 1,140
~E7F NE Y
200,000 3N Ex13] 600
-E37F NE 30,0003 *3 K| Ex42] 360
-=d, HE S 7Y
30,0003 *13|+6& 180
cQSHAER) StEA $#EESE 7Y
15,000,000& * 14 15,000
co3FAST) L & =H8F 7Y
150,000 +8& 1,200
COBFAHST) gSol LA A A=
350,000 #53] 1,750




2N

A P F T e 2(LRsSHT/UeEE)
SRl NEtA SAMTAL 2] (Cte M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
COSHASE) 2 ol LA ASH
1,400,000 #62] 8,400
ST AIA ALBAIE FIIEA =2
250,000 *13] 250
oSIIEE, EAFN S B 7Y
41,0002+ 122 4
oM J|=HE AASE 7 1,440
- SEMSE(502IH)
1,200 x2&+202« 123 576
-SEMESE(75eIH)
1,800 =2&+20L « 12 864
Ogxz 972
o2B AL AIRE D] SRR
27,0002 =3t =122 972
OZcelE4| 25,440
o2BlEAN IINTEE =2
3,000,000 19 A*23] 6,000
oS HASE) RUTHIANAY B +
== 500,000 * 122 6,000
SO AL MIIgtM &L BY 8
620,000 * 122 7,440
SOl AL AN AL BY 8
500,000 x 122 6,000
02 Ss=gHl 211,018 211,018 0
O2AHAHSR) 332= &€ MAl
90,000,000 *14! 90,000
OAlZ &I Xl 121,018
oA A= RAl2el]
7,5008%7,190m* 53,925
23| EA STAIJIAAIE SXES
2,000,000 * 104 2 2,000
COBFAER) LI [AZ+ 19,290
—ddy) == 0F 225 WA
200,000 +8LH 1,600
— ANAEHHED(GP) 20 225 wiH
1,300,000 «8CH 10,400
—AIAEAHD] ALD| 2oiAE 24
90,0002 ~81CH 7,290
oA 2 SXANE B2
5,000,000 * 17 2= 5,000
o2glEAM = )| & BOIH WA
55,0003 *107H 2 550
cOFFAHER) AMEH FAE=+
100,000& %144 2 1,400
2 HAER) Yol=ZAIE RRE>
1,000,000 *20H 2 2,000
C23FANSR) M=+=ZX & Itx L
750,000 <22 1,500




A 2IHD
A P F T e 2(LRsSHT/UeEE)
Chelt TERA SAEAL 22 (CHol: &)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
o2l AF 245 Hi2, B2 H HINE FAl
2 1,000,000 194 A 1,000
oA A8 BEE FAES
1,000,000 *14] 1,000
cQFHAEE) &4 HIO |2+
70,0003 %2304 A 1,610
S 3 FANSR) M| =2 27| |RAL
= 300,000 «6H 1,800
oSS HAHER) CCTV sAl2el
500,000 *11CH*20% 1,100
SO A HIEAIHE & ATE
3,000,000& 19 223 6,000
<23 FAN SN HIAE RAIE+
1,000,000 *14] 1,000
ooIB AL Y M4 E 2HE &
N == 80,000& *10H 800
SO A Hld A FAE+
800,000 =2CH 1,600
o 23| AL EHEZEH| K2+
3,000,000 * 104 2 3,000
ox= o =xIJ2 22 16,443
&= 83 2,043,000 #32] 6,129
-0l= & 5303 9,730 m x23] 10,314
206 M=l 6,285 6,285
01 M= Hl 6,285 6,285
OIS FA ARIIA LYl FANE+E Kt
- 7,000& x515+574 1,785
Ol AL &I, 2SANEE RANE+E Xt
M e 10,0002 x155+10H 1,500
O/ HAL LEDZE JI7 & A 7Y
100,000 x25+50H 1,000
O22EAL =5 & stct2elE N 7
10,0003 65+53] 250
O22HEAL 2SAIE 22E HIS 78
1,000,000 %14 1,000
O2IBI AL BTt HAIS 22 7Y
5,000 *150=* 100 & 750
401 A2 HIRL 201 30,000 30,000
01 Al&H| 30,000 30,000
O3 A Ry c|l2ad
30,000,000 * 14 30,000
S - HEA SFHA 31,800 184,600 A152,800
202 04t 1,800 1,800 0
01 =LHAHI 1,800 1,800 0
O - HEA EUEZAHAXEZ S)
20,0002 x3E*6 I A-+53] 1,800
401 Al HIZ R 0HbI 30,000 182,800 /152,800




MEtA: =SMFHAL 22 (Gt M)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
01 AlZ28| 29,676 181,258 151,582
OstsAR4a &8 8 19,784
o SUEMNEA wH
20,000,000 *98.92/100 19,784
Oty gESHUAN: 2+
10,000, 0002 +98.92/100 9,892
03 AIE S THYI 324 1,542 1,218
OStSARA 28 216
CSUEMNRA S 1w
20,000,000& *1.08/100 216
Ot gESHUAN e~ 2
10,000,000 *1.08/100 108
SEA e 526,440 269,110 257,330
202 O4t| 1,440 1,440 0
01 2L 1,440 1,440 0
OFRIME FA SXZAAEEY S)
20,0002 x38 +32|+6E 1,440
401 AlEHIZL R0 525,000 267,670 257,330
01 Al&H| 524,069 265,069 259,000
OBSSFUME ¢ HE 24 (FUF0)
15,000,000 *98.92/100 14,838
OMZEZUHE ZXE &
10,000, 0002 %98.92/100 9,892
ONds=edYH =Xt 54 499,339
o2 X0 177,700 800 m" +32 X| 426,480
oFXE A EHI 73,520,000&+99.1/100 72,859
03 AIZ S THYI 931 2,601 A1,670
O2ss=0dH & g 2+
15,000,000& *1.08/100 162
OMZSZUHE ZXE T
10,000,000 *1.08/100 108
ONdSFeUH =Xt 54 661
OFXEAEAHI(0.9%) 661,0002 14! 661
SAIZEAL AIF 2,519,420 2,519,420
401 Al HIZ S OHHI 2,519,420 2,519,420
01 AlZ28| 2,477,100 2,477,100
OSAEAL &= 2,477,100,000& 14] 2,477,100
02 2l 34,040 0 34,040
OSAEAL &=
2,300,000,000& *1.48/100 34,040
03 A2 THYI 8,280 0 8,280
OZAEA M=
2,300,000,000& +0.36/100 8,280
YA GHI(SH ) (O1EHIIE}) 119,640,675 119,210,890 429,785
= 24,850




S 3HL
M HAPAZHI(SIH)(DIEH/DIE
ool g E3y| (Sl &)
A - FHY . S2(3) - HRAY - BES Ol ke e HlmS2
& 150,000
Al 119,465,825
QIEZ A 118,281,334 117,910,603 370,731
= 24,850
& 150,000
Al 118,106,484
QIHA2HHl B 118,137,361 117,718,341 419,020
& 150,000
Al 117,987,361
101 @I24H| 118,137,361 117,718,341 419,020
= 150,000
Al 117,987,361
01 2 96,990,480 96,215,637 774,843
OHdEd S0 (121€) 10,199,819
oA 113,818,000& 1 113,818
o 2AIE 115,108,000& 1 115,108
=48 104,312,000 135 1,356,056
=bg 89,025,000 78X 6,943,950
o X2 90,950,000 +2H 181,900
oUBHAD|HI(42) 99,484,000&x1H 99,484
odutaJIHI(52) 84,534,000& *1H 84,534
oUBrADINI(62) 69,942,000 & *3Z 209,826
o 2B NI(73) 52,456,000& *20H 1,049,120
odutaIIHI(82) 46,023,000&*1H 46,023
Oz EH S0 (1,746 62,230,128
=65 4,231,900 x550F 122 27,930,540
78 3,033, 1002 »400H * 122 14,558,880
=8= 2,084,3002 x350H 128 8,754,060
=95 1,925,200& x400= » 12 9,240,960
SUNEIN; 3,259,000 *33H » 123 1,290,564
o HAAL 2,889,800 * 128+ 12& 416,132
oZdga L& 3,249,300 x1H + 128 38,992
OV, 2,229,913
oZdI2sY
62,230, 128,000 & *1/12%43%*13] 2,229,913
(OFSELES 8,463,407
SN2 RLS(HUZ) 2,414,813
—-6= 12,8443 «550F x10A| 2t 12 847,704
-2 11,6022 *400Z * 10A| 2+ 12 556,8%6
-8=2 10,4162 *350E * 10A| 2+ 12& 437,472
-9 9,860 *400E *10AI 2t 12& 473,280
— 28I HI(63)
12,8443 «3H+10A| 2t 123 4,624




SA: S D
N HYESHAHHI(SIH ) (DIEHIIER)
&el: 2| (Cte &2
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
— BRI HI(72)
11,602 x20H *10A| 2H+ 12 27,845
— BRI (82)
10,4162 x1H+10A| 2tx 128 1,250
— XIS A
11,7312 %33 x 10A| 2H* 122 46,455
— AL
12,3803 x 12 *10A| 2H+ 12 17,828
- A&z 1,459
- L& 12, 1582 x 1H+10Al 2tx 128 1,459
oItEY 1,542,000
— B At 40,000& %1, 100& 128 528,000
—-JIEIE 20,0003 *600H * 122 144,000
P E 30,000& *700Y = 12& 252,000
- =SMXtE 70,0002 *500 * 128 420,000
—AmAHSE Ol=
110,000& * 150 » 12& 198,000
o MIALEIHZ 1,590,000
—5E 0|8 30,000& *580 » 12& 208,800
~5E0] &~ 1010l 2t
50,000& *360&H *x 128 216,000
— 10 0] &~15E0( 8
60,000& *170H x 128 122,400
— 150 A ~20E 0| BF
80,000& *160Y * 12& 153,600
—-204 0] &t 100,000 *590H 122 708,000
2010|4250/ BH(FIPIHH2)
10,0003 x 130 x 128 15,600
—25E 0| AH(FIPHAE)
30,0003 *460H * 122 165,600
oEY 100,800
-85 50,0003 *80YH *x 12& 48,000
9= 40,0003 110"~ 128 52,800
oMuerE BRI g
80,000& *29Y » 12& 27,840
oljR=RAFLE 1,253,832
=1 == 232,000& x3¥ » 12& 8,352
-5Z2U< 184,000 *375Y » 12& 828,000
=10 = 143,000& 190 » 12& 326,040
-72U2 98,000&*30H x 12& 35,280
-8 76,0003 *10Y *12& 9,120
— KIS Ab 158,000& x20&H x 128 37,920
— A} 152,000& 5 x 128 9,120
oz |HRE 84,198
-b= 5,197,400 x 15H * 122 * % 84,198




24 A
N HYESHAHHI(SIH ) (DIEHIIER)
&el: 2| (Cte &2
SN - FH . C(3) - MSAY - BAS Ofl bt e MimE=t)
SEEEEEPN
50,000 *10Y ~12& 6,000
oEL 2L (EAEXLS) 43,200
-£X 60,0003 x5 x 12& 3,600
— 2Kl 50,000& *30Y » 12& 18,000
- 24Xl 40,000 *30Y + 12& 14,400
=N 30,000& *x20Y + 12& 7,200
oJ|l=dBEE 195,840
- XN &2 60,000 x2H x 12& 1,440
—53 - NI A} 50,000& *32Y * 12& 19,200
-6~72 30,0003 *320H x 128 115,200
-8=0lat 20,0003 x250H 122 60,000
o)|=HELEINZ 145,200
PIEN 50,000 x5 122 3,000
~IISE - JIAl
30,0003 *310H x 128 111,600
— &I A 20,0002 %1002 122 24,000
-2® - JHI(673)
10,0002 x25H x 128 3,000
-28 - Hd|(893)
20,000& x5« 12& 3,600
oMAHREL 9,000
3404 50,000& x5+ 12& 9,000
oy dIRH 3,084
-6 32,000 x 1~ 128 384
-73 25,0003 x5 122 1,500
83013t 2000081524+ 12 1,200
colpgRay 50, 000!+ 1002 * 1224 60,000
oABl= X e
70,000 *300& x 128 252,000
COAIR|IEX Y R4S IS (IHAES)
30,0003 x200H 122 72,000
o8-S 224y 428,400
-g -2 - S 63015
70,000 *480&H x 128 403,200
—8AHXA - REA
70,000 *30Y + 12& 25,200
oMZAPE 4,680
- 1404 20| 8t
90,0003 x1Hx12& 1,080
—2E0(|4 330|2H
150,000& 2H x 128 3,600
oo ZHRLE 117,000
-SSR, QZI|AIEREE
50,0003 *30H x 12& 18,000




2 SHD
M X2 AHI(SIAHDL) (DIEHIIE
el QIF 2| CEEREE
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
-BA8lsX4d 87,000
SEAXIS 350,000& x10H 123 42,000
2B S 250,000& x15H 123 45,000
— =9l Al 500,000 x2H x 122 12,000
oAM= 6,360
o= 30,0002 x 18+ 12& 360
-6=0I5t 20,0003 *25 *12& 6,000
o&dHAsg 72,000
- S>HUHBOHI LS4, HEHE9, 2=
1) 250,000 x24ZH =123 72,000
oA 80,0003 *15Z = 12& 14,400
SISt =, 20,760
=1 100,000 x1H* 123 1,200
-5 80,0003 +3H 123 2,880
—-6= 60,0003 *14Z = 12& 10,080
-2 50,0003 *118 = 12& 6,600
OFAHZ Al 140,000& 1,867 122 3,136,560
OZEFOMI
62,230, 128,000 *1/12+60%=* 13 3,111,507
OdItE 4| 1,379,344
CHEM(RAE, 43, 53, A2, dural)]
M)
10,199,819,000% *1/12x78%*86%*1/30* 10! 190,057
oS EHl
62,230, 128,000 *1/12+86%+1/30+8 1,189,287
O=s0tsdg 2,040,000
oXEM SO0IsAT
1,500,000& =105« 123 1,890,000
o=XROIEAXH6IME)
2,500,000 x10H +6& 150,000
OS2 (AHEEHHUHE) 22,002
o2 2J(2t 5E0l5t
2,263, 4003 558 « 12 6,791
o22J|2t BE =1t
2,263, 4003 *BY%+7 B+ 12& 15,211
OXZEZH| 4,177,800
o AE 650,000 x 18+ 12& 7,800
SRS 300,000 x 18+ 12& 3,600
o4z, LerADIMES
400,000 x 14«12 67,200
obg, YErADINe=
250,0002 x81H =123 243,000
o6z, LEHAIINT=
185,000 *570Y = 12& 1,265,400
o7, LeHAJINIBsS
180,000 +400H 123 864,000




2 SHD
M X2 AHI(SIAHDL) (DIEHIIE
ciel: oltey) (crel: &g
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
=892, LEtAIIN9=E
175,000&+800F * 123 1,680,000
oS AT |2IA
300,000& x10&H 123 36,000
oW FXI&| 200,000&x 19+ 122 2,400
o XHXISHM A (42, 53)
200,000 x 18+ 12& 2,400
o XX S IHA (630181
100,000& 5% 122 6,000
02 JIEt& 2 5,647,080 6,217,995 A570,915
OHAZE(3) 1,947,630
=Jll2g 1,372,944
— 15402+ 2,741,200 x29H x 12& 953,938
—2340|2+ 3,437,500 x5F x 128 206,250
—-30&0|2¢ 4,165,600 1P+ 122 49,988
—30E0| & 4,521,6002+3 122 162,778
oBIAY
1,372,954,000& / 128 #45%+23| 102,972
SN2 2RSS FUHZ) 47,149
— 15402+
9,927 A *x29F *10A| 2++ 12& 34,546
—2340|et
10,8213 x5 *10A| 2t 123 6,493
—-3040|2+
12, 133&x 1Z+10A| 2H+ 12E 1,45
—30E0| &
12,9263 «3H*10A| 2t 123 4,654
cItEsY 32,760
— UKt 40,0003 *30Z 123 14,400
A= PIES 20,0003 108+ 12& 2,400
— X THAHA 30,0002 10+ 122 3,600
- =M X4 70,0002 *10H « 123 8,400
- AWM Ol=
110,000&x3H 122 3,960
ocd=ktrg 3,240
- 50,0003« 1« 12& 600
s 40,0002+ 1+ 128 480
- 30,0003 x6H =128 2,160
oZI2=ZINtE 30,360
—5&0|2t 30,0003 x4+ 123 1,440
—5E0l&~10=0(Et
50,000 =158+ 12& 9,000
— 1040/ & ~1540|2F
60,0003 *10Z*12& 7,200
—1540(&~20&40(2¢
80,0003 1123 960




S 3HL
M HAPAZHI(SIH)(DIEH/DIE
ciel: oltey)

SH - B C9l(8H) - NISAY - BaS Ol ke e
—2040]1 & 100,000 +8H 122 9,600
—2040[&(FIPta =)

10,0003 x3H x 122 360
- 25301 & (FI0HA2)
30,0002 5« 123 1,800
o MG A 140,0002 x38H =122 63,840
cHEFIHI
1,372,954,000 & *1/12%23| «60% 137,2%
o HIHB A
1,372,954,0002 1/12%86%+1/30+ 10 32,79
oA EXH| 80,460
-=& 75,0002 x30H = 123 63,000
—ZAt 180,000& 5 122 10,800
- &< 185,000& x3H » 123 6,660
o SHDAL| (U EEY)
50,0002 *38H x 12& 22,800
oiesg 250,000 x7F+12& 21,000
O&R45(80Y) 2,211,168
oJllE2g 1,801,920
_saug 1,877,000815602+ 122 1,801,920
SN2 2R BHUZ) 94,656
924
9,860 *80E *10Al 2t+ 122 94,65
o ZAMZAlH| 140,000 »80H 122 134,400
o HEFIHI 180,192
924 150, 160, 0003 *60%*23] 180,192
OAIRHIERRIL DI HI(28E) 1,488,282
oHE 1,184,704
= AIZFSERIZQDIRI(LES)
48,341,000&+35 145,023
— ARSI R DIHI(CHS)
43,741,000& 13H 568,633
— AIRZFEERIZDIRI(2HS)
39,254,000+ 12H 471,048
o Mg A 40,0002 x28 + 122 47,040
SESF= e 55,808
— ARSI R D IHI(LIS)
250,000 #35/40+3 « 123 7,875
— AP ERIZQDIRI(CHS)
185,0002*35/40% 134 * 12& 25,253
—ARHEERIL DRI (2h2)
180,000 #35/40% 12« 12& 22,680
SN2 2RLSHEHUZ) 37,724
— AIZFEERIZD IR (LES)
12,8443 +«3H10A| 2t 123 4,624




2 SHD
M X2 AHI(SIAHDL) (DIEHIIE
cHol: olzie | (ol &2)
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
— AZH S RILDIRI(CHS)
11,6023 *13H * 10A| 2H+ 12& 18,100
— AP E R A (2h2)
10,4163« 12H *10A| 2H+ 12& 15,000
oItEg 16,440
— R 40,00021+102* 128 4,800
~JIEDHS 20,0002 452 128 1,200
S LE 30,0002!*102 128 3,600
=L OCE 70,0008 +52 122 4,200
— AR 110,00024+2 122 2,640
COUBYURLL(EHNY BAXEH)
350,000 & *35/40x7H 123 25,725
oFOIFESY 25,500
SOIEXRH(1~120HE)
1,500,000& *1Z =123 18,000
- =R
2,500,000 x 15«33 7,500
o SRR (AIZHHET) 56,868
— AP RILDIHI(LS)
48,341,000 x40/ 35+84%+*5%*3 6,962
— AZHE S HI DI RI(CHS)
43,741,000 #40/35+84%*5%+ 13 27,29%
— AZH S RILDIHI(2HS)
39,254,000 40/ 35+84%*5% 12X 22,611
oIS A
98,725,000:3 *84%*86%* 1/30%1/7% 70 A 2+ 23,773
oEXYR2FH(UH2ESHI)
50,0002 *35/40x28% * 12& 14,700
03 SRA(RINHL) 22X E > 15,499,801 15,284,709 215,092
OS&az2 Urd (=23 H2l) 14,203,377
oJl2ag 2,352, 403 x347F + 12& 9,795,144
o HEZ I 816,261,980 *23| *60% 979,515
oHI2sY 816,261,980 *23| *35% 571,384
o¥I2+YINZ 286,920
—540|2t 30,0003 77+ 12& 27,720
—5E0l&~10=0(8t
50,0002 83+ 12 49,800
—1040]&~1540| 8¢
60,0003 *44F «12& 31,680
— 1540/ & ~2040| 2+
80,0003 +54H«12& 51,840
—2040[ & ~25 0| 8¢
110,000 x54 « 122 71,280
—26E0( 4 130,000& x35H « 123 54,600
o2 |EMH|(NE4+H) 1,415,760
—HAZ A 140,000 *347G 128 582,960




S A
ME: HYSSA) (S22 OIEHIIED
Eiol: ol 2 ey
SN - I BR(H) - HRAR - BES of v e
RSN 200,000 %3472 * 122! 832,800
oAy 356,160
-mRag 80, 0008 <3472« 128 333,120
—RATALL(ALLLHGR)
80,0002 x24F 122 23,040
NP 116, 6842 3472 % 10 404,894
oIlE4g 393,600
—b = X 40,0002 #230F < 12 110,400
—JIEIS 20,0003 %250 « 122 60,000
Ny DNJE! 30,0003 x180F «12& 64,800
L P\E! 70,0002 %x110E 128 92,400
Y PCENES
110,000 x50 « 12& 66,000
O+=2d 8 (T2 Ald22|Dt) 395,570
ollEgs 2,724,020 8~ 123 261,506
S 150,000
Al 111,506
oHEFIHI 21,792, 1603 +23|+60% 26,151
odI2sE 21,792, 1603 +23] *45% 19,613
SHIHEIINS 7,080
—5=0(2¢ 30,0003 18 x 128 360
—540l&~104 018t
50,0002 224 » 128 1,200
— 151014 ~20ED0] ot
80,0003 »3& 128 2,880
—20301& ~25= 02t
110,000 x2H 122 2,640
o=2|=MHI(DESL) 32,640
- Foig Al 14,0002 *824 » 122 13,440
-x3ay 200, 00024 +8 128 19,200
onpag 15,360
~moagt 80,0002 824 128 7,680
e E=R=TONE [SEES S
80,0002 «8&~12& 7,680
S RLPNES=, 133,2443+8E+ 10 10,660
= 22,560
—bf £ X 40,0003 8~ 122 3,840
—JIEHS 20,0003 162128 3,840
ey PE 30,0002+~ 12 2,880
-S4 70,0002 +x8& * 122 6,720
—AMAS Ol=
110,000 x4 H 122 5,280
O#HZ0IsHE 20 (XHAAIZDH, 87, SHAES,
ALAIO) 90,854




2 SHD
M X2 AHI(SIAHDL) (DIEHIIE
ciel: oltey) (crel: &g
SA - B - O9(3H) - HSEAIY - BES Ofl ab ot e HlmE2
SR 2,009,780& x20H x 12& 482,348
cMNZ3 166,306
-d25Y 50,395,600 ¥23| *40% 40,317
— ME el 50,395,600 *53| *50% 125,989
SRSl 50,395,600 x23| *60% 60,475
o=2|EMH(DE ) 84,000
—HAZAH| 70,0003 +20E 123 16,800
- uSExH| 80,0002 x20H 122 19,200
A==y 200,000& x20H « 122 48,000
o EXAURLH 90,0003 *208 * 12& 21,600
o&AE Y 70,0003 208+ 12& 16,800
ocXlXtY 122,824 +20H 10 24,565
oItEg 44,760
-t 2 & 40,0003 =208+ 12& 9,600
= PIES 20,0003 *23Z = 12& 5,520
— TS 30,0003 «18Fx12& 6,480
— =M 70,0002+ 158« 12& 12,600
—AMAE Ol=
110,000 +8F 122 10,560
ol 2| 119,123 169,660 A50,537
101 21244l 119,123 169,660 AB0,537
01 E= 12,500 12,195 305
OAIZI22RE ZWE(RAIEA 2FH>) 12,500
o8z 10,4162« 1H *100A[ 2t 12 12,500
03 SR (I HS)2Z2XE S 106,623 115,707 A9,084
OAIII224E
16,959 x 16 H 20 A| 2+ + 128 *150% 97,684
Oy 8,939
oAl e AR L NEXNZ
22| 34,3803 *2H x 152 *150% 6,048
oEHA AlE=22tel
128,453 1 x 152 *150% 2,891
AR THg8ZHl XI&(l248l) 24,850 22,602 2,248
= 24,850
101 2124 d| 24,850 22,602 2,248
= 24,850
03 SRA(RINHL) 222> 24,850 22,602 2,248
OWAALR HED |2 29 2|
24,850,000 14! 24,850
= 24,850
Jl2&l 1,359,341 1,300,287 59,054
J|=2Zl 1,359,341 1,300,287 59,054
201 Ler23| 76,516 77,702 A1,186




SA: 33D
I AH2IZHI(2A D) (OIEHIIE
=l =3 (Ere:&el)
SA - ZE - BRA(H) - NRAR - BES ofl et e HImE2
01 AtR2te|Hl 76,516 77,702 A1,186
OYLLrY| EH A
18,550,000 * 14| 18,550
oul =4l 3,600
oHAL, TRl me= S
150,000 x 12 +23] 3,600
Oa4it| 54,366
ogatl SANY 51,126,000 * 14! 51,126
oA AIEE R HRFN SAHI
9,000 32 *10* 122 3,240
202 04t 9,625 9,625
01 =LHOHI 9,625 9,625
ORANEY SHAY 9,625,000& 14| 9,625
203 =4l 6,420 7,080 A660
M FAN2HARFAI 6.420 7,080 2660
03I HE7)
(400,0002+(5,00024+27% ) )+ 122 6.420
204 ARt AH 1,266,780 1,205,880 60,900
01 G AR HY| 205,500 194,100 11,400
OXMIYLRFZ 205,500
oAE 975,000« 1H =122 11,700
o 2AIE 900,000 x1& 128 10,800
o4z (012E - BAA, sYIIsdH)
400,000 x2H 12 9,600
o4z (B0 - 23, 23)
350,000 « 12+ 123 50,400
obg 114,600
-=3, ML, 23], sEJIsdH
100,000 x55E « 12& 66,000
-5-8-3 150,000& x27 E+12E 48,600
S 8,400
-2 - HY/E HEELT
50,0002 x10E* 122 6,000
-23 M2
50,0008 x4 * 122 2,400
02 SEF3H 1,061,280 1,011,780 49,500
OzZMNgESRE 80,0003 x17H*12& 16,320
ONWE - seeeds?a
100,000 3+ 12 3,600
ONSEYSRACI20 A, ME37, 42
7,897, =AZE)
150,000 x73E < 12& 131,400
outggssa 150,000 x8E~12& 14,400
OHggs=d 150,000 x0& * 122 16,200
OSRHELMEEsFA
80,0002 x1& x 122 960




SA: 33D
I AH2IZHI(2A D) (OIEHIIE
&9l JI=3 EER=E))
< S[E]
SA - B S9I(S) - MRAR - B ot e HIDE
Oots=ttits& sl
50,0002 x4 x 122 2,400
OSAI8 A2 SHI
200,0002x15F «12& 36,000
o=yl 50,0002 +1,400&» 122 840,000
WRES(3HM) (Lets3SY /Lot d) 110,000 0 110,000
RN K= 110,000 0 110,000
WEHehXIE 110,000 0 110,000
705 Ol==dclisdeE 110,000 0 110,000
02 Oll===0I Aot 110,000 0 110,000
OSFA 22 52 AYMNY SHHZ Y
313 MHE SA+ &&(0IR)
110,000,000 *14] 110,000




